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                                   Class Notes
                  Water
Water is found in all three physical states _____, ______ and _______. 
Water is an essential component of all organisms 70% to 90% of the mass of the _____ things in water . 
The chemical reactions of most life processes take place in ________
The _____ tension of ______ is a physical property equal to the amount of face per unit are which is necessary to expand the surface of liquid . 
The ____ tension is what causes things to float in H20
Surfaces tension: 0.00017X Temperature +0.0761.
Practice Problems 
1. The temperature of water is 35 degrees Celsius, find the surface tension.___________________
2.  The temperature of water is 45 degrees Celsius, what is the surface tension?______________________
           Class Work 
Consider the following question which often finds a place in Medical and Engineering Entrance test papers. 
1.Two soap bubbles A and B are obtained at the ends of a glass tube with a stop cock at its middle. The stop cock is closed initially and the bubble B is larger in size. If the stop cock is opened what happens to the bubbles?
(a) Nothing
(b) The size of A decreases and the size of B increases
(c) The size of A increases and the size of B decreases
(d) Both A and B will decrease in size
(e) Both A and B will increase in size.
You should note that the pressure on the concave side of a liquid surface is always greater 2T/R
2.A tall metallic jar has a small hole of radius 0.07mm at its bottom. What is the approximate depth up to which the jar can be lowered vertically in water before any water penetrates in to it through the hole? (Surface tension of water = 0.073N/m)
(a) 7cm
(b) 11cm
(c) 16cm
(d) 21cm
(e) 27cm
13. Water rises in a capillary tube to a height ‘h’. Choose FALSE statement regarding capillary rise from the following:
(a) On the surface of Jupiter, height will be less than h.
(b) In a lift moving up with constant acceleration, height is less than h.
(c) On the surface of moon, height is more than h.
(d) In a lift moving down with constant acceleration, height is less than h.
(e) At the poles, height is less than that at equator
4. One end of a towel dips into a bucket full of water and other end hangs over the bucket. It is found that after some time the towel becomes fully wet. It happens (CPMT 86)
(a)    Because viscosity of eater is high                
(b)    Because of the capillary action of cotton threads
(c)    Because of gravitational force                     
(d)    Because of evaporation of water.
5. Choose the wrong statement from the following.
(a)    Small droplets of a liquid are spherical due to surface tension                       
(b)    Oil rises through the wick due to capillarity
(c)    In drinking the cold drinks through a straw, we use the phenomenon of capillarity                   
(d)    Gum is used to stick two surfaces. In this process we use the property of Adhesion
6.Rain drops are spherical in shape because of
(a)    Surface tension     
(b)    Capillary
(c)    Downward motion           
(d)    Acceleration due to gravity
7. Which of the following is not based one the principle of capillarity .  HINT : Capillary action is the ability of water to flow in narrow spaces without the help of, and in resistance, to external forces such as the gravitational force
(a)    Floating of wood on eater surface               
(b)    Ploughing of soil
(c)    Rise of oil in wick of lantern
(d)    Soaking of ink by bloating paper
8. The height of water in a capillary tube of radius 2 cm is 4 cm. what should be the radius of capillary, if the water rises to 8 cm in tube? 
(a)    1 cm                     (b)      0.1 cm
(c)    2 cm                     (d)      4 cm
9.A number of small drops of mercury coalesce adiabatically to form a single drop. The temperature of drop (MHT-CET-2008)
(a)    Increases             
(b)    Is infinite
(c)    Remains unchanged                      
(d)    May decrease or increase depending upon size
10. Two cans of soda Regular soda along with Diet Soda if placed in a water container which can will float and why? 
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